ASSEMBLY INSTRUCTIONS | INDUSTRY MEDIA SIDEBOARD

HARDWARE CHECKLIST

Bolts M6x20 (12pcs)
Washers M6 (14pcs)

Bolts M6x30 (6pcs)

-
(©)
-
= | Allen Key K4 (1pc)
& | Bracket (4pcs)
C—
L
&

Tie (2pcs)
Screw M4x20 (4pcs)

I N 0|~ IN| =

Screw M4x35 (4pcs)

ESSENTIALS FOR LIVING® 19511 Pauling, Foothill Ranch, CA 92610 USA | www.EssentialsForLiving.com



ASSEMBLY INSTRUCTIONS | INDUSTRY MEDIA SIDEBOARD

Open media \‘
hole inside ~ \ ' Vi

ESSENTIALS FOR LIVING® 19511 Pauling, Foothill Ranch, CA 92610 USA | www.EssentialsForLiving.com



ASSEMBLY INSTRUCTIONS | INDUSTRY MEDIA SIDEBOARD

HARDWARE CHECKLIST

Bolts M6x20 (12pcs)
Washers M6 (14pcs)
Bolts M6x30 (6pcs)
Allen Key K4 (1pc)

Bracket (4pcs)

Tie (2pcs)

Screw M4x20 (4pcs)
Screw M4x35 (4pcs)

Vi[8]1e1

Finished

[/

ESSENTIALS FOR LIVING® 19511 Pauling, Foothill Ranch, CA 92610 USA | www.EssentialsForLiving.com



